
SERVING THE TOOL & DIE INDUSTRY SINCE 1956 

 Jolico/J-B Tool, Inc. 
 GLOBAL SUPPLIER OF DIE & AUTOMATION COMPONENTS 

  4325  22 Mile Road,  Utica,  MI  48317-1507 
 Phone: 586.739.5555      Fax: 586.739.4840 

Stellantis Metric Catalog 







































SEE 32315
SEE 32320



























19-010-0293 100

D1

120

01-2023

JOLICO J-B TOOL
CONE BALANCER SHIM STOCK

PHONE (586) 739-5555 CD - 6.2

PRINTED COPY IS
UNCONTROLLED

 CHRYSLER
CC NUMBER

19-010-0294

D3

58

78

D2

76

96

FOR M10 SOC. HD. SCR.
(2) PLACES

Ø17

D2

D1

D3

38

30 Ø3

SHIM STOCK 0.5 THICK

J-223302

 JOLICO
NUMBER

J-223303





















07-2022

JOLICO J-B TOOL

PHONE (586) 739-5555 CF - 1.2

PRINTED COPY IS
UNCONTROLLED

GIB PLATES - WITHOUT LUBRICATION

JOLICO
NUMBER

FCA
CC NUMBER b1

J-444277 19-205-0142

h1

160

L1 b2

115

L3 L4 Øb
H13

SCREW
SIZE

SCREW
HOLESL5 L6

J-444274 19-205-0139 55 15 200 35 155
- - -

17.5 M16 X 50
2

J-444275 19-205-0140 250 125 205 3

J-444276 19-205-0141 160 115

J-444279 19-205-0144 75 25 200 40 155 17.5 M16 X 60
2

J-444278 19-205-0143 250 125 205 3

J-444280 19-205-0145 160 115

J-444281 19-205-0146
100 25

200
60

155
17.5 M16 X 60

2

J-444282 19-205-0147 250 125 205 3

J-444283 19-205-0148 400 125 200 5275 355

- - - - - -

- - -
- - - - - -

- - - - - -
- - -

J-444288 160 115

J-444289
100 30

200
60

155
22.0 M20 X 70

2

J-444290 250 125 205 3

J-444291 400 125 200 5275 355

- - - - - -
- - -

J-444288 160 115

J-444289
100 30

200
60

155
22.0 M20 X 70

2

J-444290 250 125 205 3

J-444291 400 125 200 5275 355

- - - - - -
- - -

J-444288 160 115

J-444289
100 30

200
60

155
22.0 M20 X 70

2

J-444290 250 125 205 3

J-444291 400 125 200 5275 355

- - - - - -
- - -

J-444288 19-205-0368 160 115

J-444289 19-205-0369
100 30

200
60 22.0 M20 X 70

2

J-444290 19-205-0370 250 125 205 3

J-444291 19-205-0371 400 125 200 5275 355

- - - - - -
- - -

160 115

30
200 155

22.0 M20 X 70

2

250 125 205 3

400 125 200 5275 355

- - - - - -
- - -

30 22.0

2

3

5275 355

- - - - - -
- - -

19-205-0149

30

2

3

5275

- - - - - -
- - -

J-444284

J-444285 19-205-0150
125 30 75

2

J-444287 19-205-0156 3

J-444286 19-205-0151 5

- - - - - -
- - -

b2
b1

45 45

L3

L1

h1

Ød

L3

45

L3

L4

L5

L4

L1

L6

L1



07-2022

JOLICO J-B TOOL

PHONE (586) 739-5555 CF - 1.3

PRINTED COPY IS
UNCONTROLLED

GIB PLATES - WITH LUBRICATION

JOLICO
NUMBER

FCA
CC NUMBER b1

J-444260 19-205-0138

h1

160

L1 b2

115

L3 L4 Øb
H13

SCREW
SIZE

SCREW
HOLESL5 L6

J-444261 19-205-0152 55 15 200 35 155
- - -

17.5 M16 X 50
2

J-444262 19-205-0153 250 125 205 3

J-444263 19-205-0154 160 115

J-444264 19-205-0163 75 25 200 40 155 17.5 M16 X 60
2

J-444265 19-205-0155 250 125 205 3

J-444266 19-205-0164 160 115

J-444267 19-205-0160
100 25

200
60

155
17.5 M16 X 60

2

J-444268 19-205-0157 250 125 205 3

J-444269 19-205-0158 400 125 200 5275 355

- - - - - -

- - -
- - - - - -

- - - - - -
- - -

19-205-0372 160 115

J-444293
100 30

200
60

155
22.0 M20 X 70

2

19-205-0374 250 125 205 3

J-444295 19-205-0375 400 125 200 5275 355

- - - - - -
- - -

160 115

100 30
200

60
155

22.0 M20 X 70

2

J-444294 250 125 205 3

400 125 200 5275 355

- - - - - -
- - -

160 115

100 30
200

60
155

22.0 M20 X 70

2

250 125 205 3

400 125 200 5275 355

- - - - - -
- - -

J-444292 160 115

19-205-0373
100 30

200
60 22.0 M20 X 70

2

250 125 205 3

400 125 200 5275 355

- - - - - -
- - -

160 115

30
200 155

22.0 M20 X 70

2

250 125 205 3

400 125 200 5275 355

- - - - - -
- - -

30 22.0

2

3

5275 355

- - - - - -
- - -

19-205-0159

30

2

3

5275

- - - - - -
- - -

J-444270

J-444271 19-205-0161
125 30 75

2

J-444272 19-205-0162 3

J-444273 19-205-0310 5

- - - - - -
- - -

b2
b1

45 45

L3

L1

h1

Ød

L3

45

L3

L4

L5

L4

L1

L6

L1

30

30

30

25

20

b3

b3



























04-2023

JOLICO J-B TOOL

PHONE (586) 739-5555 CF -06.3

PRINTED COPY IS
UNCONTROLLED

L - GIB BLOCK

JOLICO
NUMBER

19-205-0166         J-336013
J-336012             19-205-0165             

COMMODITY
CODE

b1

55
100
160

L1
-0.2

b2
-0.02

37

±0.2
b3

20

h1

55.5

h2

39.5

±0.1
L2

±0.2

27.5
72.5

132.5

L3 L4 L5 L6 d1
H13

13.5

SCREW SIZE
THREAD No.

M12 2

A d2
H7

10 10

J-336014             19-205-0167
19-205-0168J-336015

J-336016             
J-336017

19-205-0169
19-205-0170

70 50 30 75.5 55.5 35

160
200
250
400

125
165
125
125

- - -
- - -
215
200

- - -
- - -

- - -
- - -
- - -
275

- - -
- - -

- - -
- - -
- - -
365

- - -
- - -

17.5 M16 12.5 12
2

3
5

J-336018 19-205-0171
19-205-0172J-336019

J-336020
J-336021

19-205-0173
19-205-0174

85 63 38 90.5 65.5 42.5

160
200
250
400

117.5
157.5
125
125

- - -
- - -

207.5
200

- - -
- - -
- - -
275

- - -
- - -
- - -

357.5

22 M20 15 16
2

3
5

±0.2 ±0.2 ±0.2 ±0.2

A

A

L2

L3

L1

b3

b1

b2

h1
h2

A

A

L2

L3

L4

L1

30

A
L2

L3

L4

L5

L6

L1

A

Ød1 FOR SOC. HD.
CAP SCREW

Ød2 DOWEL SIZE
(2) PLACES

Ød2 + 2





































































































































07-2022

JOLICO J-B TOOL

PHONE (586) 739-5555 CH - 35

PRINTED COPY IS
UNCONTROLLED

M24 THREADED ROD

THREADED ROD AND TUBING
FOR LOWER PAD CONTROL

10

LENGTH

Ø5.6M24 X 3 THREADS

JOLICO
NUMBER

FCA
CC NUMBER LENGHT

J-661640-1-250 19-010-0313 250

J-661640-1-300 19-010-0314 300

19-010-0315 350J-661640-1-350

J-661640-1-400 19-010-0316 400

19-010-0317 450J-661640-1-450

J-661640-1-500 19-010-0318 500

19-010-0319 550J-661640-1-550

J-661640-1-600 19-010-0320 600

TUBING Ø25 I.D.

JOLICO
NUMBER

FCA
CC NUMBER LENGHT

J-661640-2-250 19-010-0307 250

J-661640-2-300 19-010-0308 300

19-010-0309 350J-661640-2-350

J-661640-2-400 19-010-0310 400

19-010-0311 450J-661640-2-450

J-661640-2-500 19-010-0312 500

J-661640-2-100 19-010-0304 100

J-661640-2-150 19-010-0305 150

19-010-0306 200J-661640-2-200

LENGHT

Ø25 +0.2 / -0.0

Ø35 +0.1 / -0.0



01-2023

JOLICO J-B TOOL
ROUND NUT FOR BINDER RETAINING

PHONE (586) 739-5555 CH - 36

PRINTED COPY IS
UNCONTROLLED

Ø10.5
M24 TAP HOLE

JOLICO
NUMBER

CHRYSLER
CC NUMBER

J-228316 19-010-0300

20

33

Ø90





















































07-2022

JOLICO J-B TOOL

PHONE (586) 739-5555 CI - 19.2

PRINTED COPY IS
UNCONTROLLED

ROUND FINGER GAGE WITH SWING BLADE

JOLICO
NUMBER

FCA
CC NUMBER L

J-441650 19-010-0321 120
J-441651 19-010-0322 150

JOLICO
NUMBER

FCA
CC NUMBER L

J-441652 19-010-0323 180
J-441653 19-010-0324 250

30

8
26

26

30

8

26
26

FOR M12 SOC. HD. CAP SCR.

Ø8 +0.1
- 0.0 Ø8 +0.1

- 0.0

8

Ø30

8

Ø30

20

20

FOR M12 SOC. HD. CAP SCR.

55
70

103

105
120

103

L

L

20°20°

13 13

R5

R20
R20

R5

R R







































07-2022

JOLICO J-B TOOL

PHONE (586) 739-5555 CK - 11

PRINTED COPY IS
UNCONTROLLED

LOCKING KEYS - 45mm HIGH

20

20

L

15

45

45 h6

JOLICO
NUMBER

FCA
CC NUMBER L

J-996483 19-010-0325 100
J-996484 19-010-0326 200

FOR M12 SOC. HD. CAP SCREW
(2) PLACES
















































	CA-00-Cover
	CA-01
	CA-02
	CA-03
	CA-04
	CA-05
	CB-01-01
	CB-01-02
	CB-01-03
	CB-01-04
	CB-04
	CB-06
	CB-07
	CB-08
	CB-09
	CB-10
	CB-11
	CB-12
	CB-13
	CB-14
	CB-16
	CC-01-01
	CC-01-02
	CC-02
	CC-03
	CC-04
	CC-05
	CD-01
	CD-02
	CD-03
	CD-04
	CD-06-01
	CD-06-02
	CE-01
	CE-02
	CE-03
	CE-04
	CE-05
	CE-06
	CE-07
	CE-08
	CF-01
	CF-01-02
	CF-01-03
	CF-02
	CF-03-01
	CF-03-02
	CF-03-03
	CF-03-04
	CF-04
	CF-04-01
	CF-04-02
	CF-04-03
	CF-05
	CF-06-01
	CF-06-02
	CF-06-03
	CF-07
	CF-08
	CF-09
	CF-10
	CF-11
	CF-16
	CF-17
	CF-18-01
	CF-18-02
	CF-19
	CF-20
	CF-21
	CF-22
	CF-23
	CF-24
	CG-02
	CG-03
	CG-04
	CG-05
	CG-06
	CG-07
	CG-08
	CG-09
	CG-11
	CH-03-02
	CH-03-03
	CH-04
	CH-05
	CH-06
	CH-07
	CH-08
	CH-09
	CH-10
	CH-11
	CH-12
	CH-13
	CH-14
	CH-15
	CH-16-01
	CH-16-02
	CH-16-03
	CH-16-04
	CH-16-05
	CH-17
	CH-18
	CH-19-01
	CH-19-02
	CH-20
	CH-21
	CH-22
	CH-23
	CH-24-01
	CH-24-02
	CH-24-03
	CH-25
	CH-26
	CH-27-01
	CH-27-02
	CH-27-03
	CH-27-04
	CH-29-02
	CH-30
	CH-31
	CH-33
	CH-34
	CH-35
	CH-36
	CI-01
	CI-02
	CI-03
	CI-04
	CI-05
	CI-06
	CI-07-01
	CI-07-02
	CI-07-03
	CI-07-04
	CI-08
	CI-09
	CI-10
	CI-11
	CI-11-02
	CI-12-01
	CI-12-02
	CI-13-01
	CI-13-02
	CI-14-01
	CI-14-02
	CI-15
	CI-16
	CI-17
	CI-18
	CI-19-02
	CJ-01-01
	CJ-01-02
	CJ-01-03
	CJ-02
	CJ-03
	CJ-05
	CJ-06
	CJ-08
	CK-01
	CK-04-01
	CK-05-01
	CK-05-02
	CK-05-03
	CK-06
	CK-07
	CK-08
	CK-09
	CK-10
	CK-11
	CL-01
	CL-02
	CL-04
	CL-05
	CM-01-01
	CM-01-02
	CM-02-01
	CM-02-02
	CM-04
	CM-05
	CN-01
	CN-02
	CO-01
	CO-02
	CO-02-02
	CO-03
	CO-03-01
	CO-03-02
	CO-04
	CO-05
	CO-06
	CO-07
	CO-08

